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Section - I (English)

Q.No: 1 Choose the correct part of speech for the underlined word in the sentence.
The technician repaired the malfunctioning equipment swiftly.

Adjective

Adverb

Verb

Noun

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:
Renewable Energy

Renewable energy sources, such as solar and wind power, play a crucial role in addressing environmental
concerns and reducing reliance on non-renewable resources. Solar energy harnesses the power of the sun
through solar panels, while wind energy uses turbines to convert wind motion into electricity. Unlike fossil
fuels, renewable energy is sustainable and has minimal environmental impact. Governments worldwide are
increasingly investing in the development and implementation of renewable energy technologies to create a
greener and more sustainable future.

What type of energy source is wind power?

Renewable

Non renewable

Limited

Electricity

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:
Renewable Energy

Renewable energy sources, such as solar and wind power, play a crucial role in addressing environmental
concerns and reducing reliance on non-renewable resources. Solar energy harnesses the power of the sun
through solar panels, while wind energy uses turbines to convert wind motion into electricity. Unlike fossil
fuels, renewable energy is sustainable and has minimal environmental impact. Governments worldwide are
increasingly investing in the development and implementation of renewable energy technologies to create a
greener and more sustainable future.

What is the advantage of renewable energy over fossil fuels?

Higher energy density

Minimal environmental impact

Limited availability

Increased carbon emissions

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:
Renewable Energy

Renewable energy sources, such as solar and wind power, play a crucial role in addressing environmental
concerns and reducing reliance on non-renewable resources. Solar energy harnesses the power of the sun
through solar panels, while wind energy uses turbines to convert wind motion into electricity. Unlike fossil
fuels, renewable energy is sustainable and has minimal environmental impact. Governments worldwide are
increasingly investing in the development and implementation of renewable energy technologies to create a
greener and more sustainable future.

What does the paragraph say about fossil fuels

sustainable

renewable

non renewable

non sustainable

Q.No: 5 Choose the correct meaning of "munificent":

Malevolent

Ephemeral

Generous

Stingy

Q.No: 6 Arrange the following jumbled words into a coherent order:
A. Learn
B. Students
C. In
D. Teachers
E. Classrooms
F. From

B-A-F-D-C-E

A-B-C-D-E-F

D-A-C-B-F-E

B-A-C-F-D-E

Q.No: 7 Choose the correct part of speech for the underlined word in the sentence.
My cat is sleeping peacefully on the bed

Adverb

Adjective

Verb

Noun

Q.No: 8 Choose the correct meaning of the idiom or phrase underlined in the sentence:
The new software update was a piece of cake to install.

Impossible to install

Easy to install

Tasted like cake

Difficult to install

Q.No: 9 Which sentence is in the present perfect continuous tense?

We go to the beach every summer.

She has finished her assignment.

They have been playing for hours.

I will finish my work soon.

Q.No: 10 Choose the correct option that completes the sentence logically and grammatically:

The students were asked to complete the project ________ the end of the week.

of

by

in

with

Q.No: 11 They are building a new bridge.

Transform the above sentence into passive voice.

They have built a new bridge.

A new bridge was built by them.

A new bridge is being built by them.

A new bridge is built by them.

Q.No: 12 Choose the most appropriate synonym for the underlined word in the given sentence.
The flimsy bridge trembled under the weight of the truck.

strong

sturdy

delicate

flexible

Q.No: 13 Fill in the blank with the correctly spelled word:
The politician's charisma and eloquence were his greatest __________ during the election campaign.

Assents

Assets

Assests

Accents

Q.No: 14 Choose the antonym for "Brave"?

Valiant

Cowardly

Daring

Fearless

Q.No: 15 What is the plural of "matrix"?

matrixes

matrix's

matrixi

matrices

Q.No: 16 Which punctuation mark is used to indicate direct speech in a sentence?

Exclamation mark

Semicolon

Quotation mark

Hyphen

Q.No: 17 Choose the sentence with the correct punctuation.

My favourite fruits are apples, oranges and bananas.

My favourite fruits are, apples, oranges and bananas.

My favourite fruits are apples, oranges and, bananas

My favourite fruits are apples oranges and bananas.

Q.No: 18 Choose the correct article in English grammar that completes the sentence:
I ate ____ delicious apple today.

an

a

the

No Article Required

Q.No: 19 Choose the correct question tag from the four options given, that completes the sentence logically and
grammatically:
We've finished the project, __________?

haven't they

do we

haven't we

does it

Q.No: 20 Choose the correct part of speech for the underlined word in the sentence.
The bird sings beautifully in the morning.

Adjective

Verb

Noun

Adverb

Q.No: 21 Choose the correct term for "A person who studies the structure of the Earth's crust":

Geologist

Meteorologist

Cartographer

Seismologist

Q.No: 22 Choose the correct option that completes the sentence logically and grammatically:

The students were surprised ____________ the unexpected announcement.

of

for

because

at

Q.No: 23 In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternative
suggested, select the one which best expresses the same sentence in Passive/Active Voice.

I remember my sister taking me to the museum.

I remember I was taken to the museum.

I remember being taken to the museum by my sister.

I remember myself being taken to the museum by my sister.

I remember taking me to the museum by my sister.

Q.No: 24 What does the word "pensive" mean?

Jovial

Carefree

Impulsive

Thoughtful

Q.No: 25 What is the future tense of the verb "to play"?

will play

plays

played

playing

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 The Least Common Multiple (LCM) of 7 and 9
is _____.

Q.No: 52

Q.No: 53 In a box, the ratio of White
socks to Black socks is 3:2. If
there are 25 socks in total,
how many Black socks are
there?

Q.No: 54
Person A incurs a loss of 20% by selling an
article for Rs.2000. At what price should
the article be sold to earn a 10% profit?

Q.No: 55 A can lay railway track
between two given stations in
16 days and B can do the
same job in 12 days. With help
of C, they did the job in 4 days
only. Then, C alone can do the
job in:

10 days

9 * (2/5)days

9 * (3/5)days

9 * (1/5) days

Q.No: 56 The ratio of A's and B's ages is
3:2. If the difference between
their ages is 12 years, what is
A's age?

24 years

12 years

36 years

48 years

Q.No: 57
If a letter is chosen at random from the word
"MATHEMATICS", what is the probability that it
is a vowel?

Q.No: 58 The average of six numbers is 85. If one
number is 90, what is the average of the
remaining five numbers?

84 84

80 80

70 70

94 94

Q.No: 59 The ratio of 9.6 m to 40 cm is ______.

Q.No: 60 If the principal amount is Rs.8000, the
interest rate is 4% per year
compounded annually, and the time
period is 2years, what is the total
amount after 2 years?

Q.No: 61 Evaluate the following:
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Q.No: 62 What percent of 1 kilograms is 25 grams?

Q.No: 63 What is 49% of 140?

Q.No: 64 Simplify:

-1 -1

-2 -2

1 1

-3 -3

Q.No: 65 Ram is 18 years old. How old was he 4
years back?

22 years

12 years

14 years

16 years

Q.No: 66 If the principal amount is Rs.4000, the
rate of interest is 9% per annum, and
the time period is 2 years, how much
compound interest earned?

Q.No: 67 If A can complete a project in
12 days and B can complete the
same project in 24 days, how
long will they take together to
finish it?

8 days

16 days

20 days

12 days

Q.No: 68 A shopkeeper sells a bag at a loss of 8%. If
the cost price is Rs.750, what is the selling
price?

Q.No: 69 If the cost price of an article is Rs.40 and
the selling price is Rs.10, what is the loss
percentage?

Q.No: 70
A cyclist travels at 10 km/hr for 2 hours
and then at 13 km/hr for 1 hour. Find
his average speed.

11 km/hr 11 km/hr

9 km/hr 9 km/hr

7.33 km/hr 7.33 km/hr

10 km/hr 10 km/hr

Q.No: 71 Simplify:

45 45

65 65

325 325

150 150

Q.No: 72 If you randomly choose a day of the week,
what is the probability that it is a
Thursday?

Q.No: 73
What is the Highest Common Factor (HCF)
of any two consecutive integers?

Q.No: 74 The average of twelve numbers is 110. If the
sum of the first eleven numbers is 1115,
what is the last number?

Q.No: 75 A man drives his motorbike for
10 hours and travels a distance
of 990kms. What is the
average speed of the bike?

99 kmph 99 kmph

990 kmph 990 kmph

100 kmph 100 kmph

90 kmph 90 kmph

Section - IV (General Knowledge)

Q.No: 76 Which one of these does NOT cause water
pollution?

Pesticides

Hydroelectric power plants

Fertilizers

Industrial waste

Q.No: 77 Who was the viceroy of India
during the Cripps Mission visited
India in 1942?

Lord Linlithgow

Lord Dalhousie

William Bentick

Lord Irwin

Q.No: 78 Which was the language used by Gautama
Buddha during his preaching?

Bhojpuri

Pali

Hindi

Santali

Q.No: 79 The United Nations (UN) was established on
________.

October 22nd, 1945

October 20th, 1945

October 21st, 1945

October 24th, 1945

Q.No: 80 The world environment day is celebrated on _____.

June 2

June 3

June 5

June 6

Q.No: 81 The outermost shell of an atom can accommodate
a maximum of ______.

6 electrons

16 electrons

8 electrons

12 electrons

Q.No: 82 'Big Ben' is the famous clock located in which
country?

Finland

New Zealand

Qatar

England

Q.No: 83 Sultan Azlan Shah Cup is related to which sport?

Volley ball (men)

Kabaddi (men)

Cricket (men)

Field Hockey (Men)

Q.No: 84 In which year was Pradhan
Mantri Garib Kalyan Yojana
came into effect, under the
Ministry of Finance?

Q.No: 85 Full form of VPN is:

Visual Private Network

Virtual Public Network

Virtual Private Network

Vital Private Network

Q.No: 86 Who is the author of 'Vikramorvashi'?

Kalhana

Chanakya

Amarasimha

Kalidasa

Q.No: 87 Which of the following is one of the classical
languages of India?

Odia

Hindi

Marati

Urdu

Q.No: 88 Which device converts electrical energy into
mechanical energy?

Motor

Windmill

Generator

Transformer

Q.No: 89 Dr. Abdul Kalam received prestigious
Bharat Ratna award in the
year__________.

Q.No: 90 During the process of
photosynthesis in a neem tree, the
first step is:

Conversion of light energy to chemical
energy

Absorption of light energy by chlorophyll

Reduction of carbon dioxide to
Carbohydrates

Splitting of water molecules in hydrogen and
oxygen

Q.No: 91 Who was the founder of Yoga philosophy?

Vyasa

Patanjali

Kapila

Gautama

Q.No: 92 The National
Bank for
Agriculture and
Rural
Development
(NABARD) has its
headquarters in
which city?

New Delhi

Mumbai

Bengaluru

Hyderabad

Q.No: 93 Who appoints the Chief Justice of India?

The President

The Vice President

The Prime Minister

The Parliament

Q.No: 94 Where does the word 'Demerara' in Demerara
Sugar come from?

Name of a type of sugarcane

Name of a person who holds the copyright

Name of a Company

Name of a town

Q.No: 95 At which place on earth are days and
nights of equal length always?

Prime Meridian

Poles

Equator

Nowhere

Q.No: 96 Which is the outermost planet in the solar system?

Mercury

Venus

Neptune

Pluto

Q.No: 97 Onattukara Sesame, Geographical
Indication (GI) product recently seen
in news is cultivated in which of the
following state?

Odisha

Jammu Kashmir

Andhra Pradesh

Kerala

Q.No: 98 Carbohydrates in the plants are stored in
the form of ____________.

Starch

Maltose

Glucose

Vitamins

Q.No: 99 The headquarters of OPEC is located at ________.

Tehran

Istanbul

Dubai

Vienna

Q.No: 100 Amartya Sen won the Nobel Prize in
Economics in which year?

Section - V (Computer Knowledge)

Q.No: 101 Which operating system can
you give smallest file name?

Window

Windows NT

DOS DOS

Ps/2 Ps/2

Q.No: 102 What is the full form of
ARCNET in computer?

Attached Resource Computer Network

Attaching Resource Connecting
Network

Automatic Resource Connecting
Network

Available Resource Connected Network

Q.No: 103 You can auto fit the width of column by

Double clicking on the column left border of column
header

Double click on the cell pointer in worksheet

Double clicking on the column name on column header

Double clicking on column right border on column header

Q.No: 104 _____ is the
process of buying,
selling, or
exchanging
products,
services, and
information via
computer
networks.

Electronic Commerce

Electronic Trading

Electronic Governance

Electronic Business

Q.No: 105 CRC stands for:

Cyclic Reliability Check

Cyclic Remote Check

Circular Redundancy Check

Cyclic Redundancy Check

Q.No: 106 The central processing unit is located in the
________.

System unit

Memory unit

Monitor

Hard disk

Q.No: 107 An unauthorised access to a computer is a
crime of _____.

Encryption

Firewall

Patch

Hacking

Q.No: 108 The language that the
computer can understand
and execute is called
________.

Application software

System program

Computer language

Machine language

Q.No: 109 The operating system creates
________ from the physical computer.

Virtual work

Virtual space

Virtual computer

Virtual device

Q.No: 110 In Excel, the shortcut key used to
select entire row is :

Ctrl + B

Shift + Enter

Shift + Spacebar

Ctrl + Enter

Q.No: 111 Web Browser is _______ layer.

Data Link

Presentation

Session

Application

Q.No: 112 Keyboard shortcut for Cut command is:

Ctrl + Y

Ctrl + W

Ctrl + Z

Ctrl + X

Q.No: 113 One or more defects occurring in the
computer software that prevents the software
from working is called?

Slug

Blur

Bot

Bug

Q.No: 114 Computer
security is a
branch of
information
technology
known as
__________,
which is intended
to protect
computers.

Mobile Security

Technology Security

Security System

Information Security

Q.No: 115 Which of the following is the drawback of Ring
Topology?

Unidirectional Transmission

Speed of data transfer is high

Easy installation

High-speed

Q.No: 116 What is the full form of WAN?

Wired Area Network

Wide Area Network

World Area Network

Wide Automated Network

Q.No: 117 Digitizer is a/an ______ device.

Headphones

Printer

Input

Output

Q.No: 118 The Shortcut for formatting
numbers in comma format in
Excel is:

Q.No: 119 What is the shortcut key to
create a bar chart based on
selected data in a separate
sheet?

Q.No: 120
The network where all the nodes are around a
central server is :

Ring network

Bus network

Star network

ISP network

Q.No: 121 Before a message is encrypted, it is
called as _______.

Plain text

Crypto text

Kryptonite

Cipher text

Q.No: 122 Which of the



Q.No: 122 Which of the
following
should you
use if you
want all the
slides in the
presentation
to have the
same 'look'?

Outline view

A presentation design
template

The slide layout option

Add a slide option

Q.No: 123 In MS Office, Which
is the software for
managing emails?

MS Outlook

MS Access

MS Publisher

MS Word

Q.No: 124 The first part of the email address identifies
_______.

Name of the mobile operator

Name of the email server

Name of the bank

Name of an individual user

Q.No: 125
LCD stands for :

Liquid Crystal Display

Liquid Code Display

Light Card Display

Light Crystal Display

Section - VI (General Science)

Q.No: 126 The material exchange of
materials between
surrounding cells and the
blood takes place in
__________.

Veins

Arteries

Capillaries

Large vessels

Q.No: 127
Insects belong to the phylum:

Chordata

Arthropoda

Mollusca

Echinodermata

Q.No: 128 What is found in the Stratosphere part of
the Earth's atmosphere?

The Moon

Ozone layer

The Mercury

The equator

Q.No: 129 A potato plant growing new
plants from its "eyes" (buds) is
an example of:

Fragmentation

Spore formation

Sexual reproduction

Vegetative propagation

Q.No: 130 Name the fabric which is used in
making bulletproof jackets?

Kevlar

Steel

Aluminium

Iron

Q.No: 131 What is the resistance of a circuit
if a current of 2A flows through it
when a potential difference of
12V is applied?

24Ω

6Ω

14Ω

10Ω

Q.No: 132 Which of the following enzymes is not present in
the human stomach?

Trypsin

Hydrochloric acid

Mucus

Pepsin

Q.No: 133
What type of heart structure does fish have?

2 chambers

4 chambers

3 chambers

1 chambers

Q.No: 134 A solution has a pH of 10. Is
this solution acidic, basic, or
neutral?

Cannot be determined

Acidic

Basic

Neutral

Q.No: 135
Metals are generally good conductors of:

Heat

Light

Sound

Static electricity

Q.No: 136 A mirror which is spherical
whose reflecting surface is
curved outwards, is
called__________.

Concave mirror

Transparent mirror

Plane mirror

Convex mirror

Q.No: 137 What is a commonly used base found in
laboratories?

Ammonium hydrogen urate

Gypsum

Salicylic acid

Caustic soda

Q.No: 138 The phenomenon where a
magnetic field is produced
around a current-carrying
conductor is known as:

Magnetic effect of electric current

Electromotive force

Electromagnetism

Electromagnetic induction

Q.No: 139 Which of the following is the
colored part of the eye that
controls the amount of light
entering the eye?

Pupil

Iris

Retina

Cornea

Q.No: 140 Imagine two individuals, one
with a very active lifestyle and
another with a sedentary
lifestyle. How would their
capillary networks likely differ?

Both would have the same capillary
density throughout their bodies.

The sedentary individual would have
more capillaries due to lower tissue
activity.

The active individual would have a denser
capillary network in muscles for efficient
oxygen delivery.

The active individual would have fewer
capillaries as they exercise more.

Q.No: 141 The "Hardy-Weinberg equilibrium"
describes a population that is:

Experiencing a bottleneck effect

Undergoing rapid evolution

Not evolving and in genetic equilibrium

Dominated by one specific allele

Q.No: 142 Which hormone is responsible
for regulating the sleep-wake
cycle and is often referred to
as the "sleep hormone"?

Melatonin

Dopamine

Epinephrine

Serotonin

Q.No: 143 Which one of the following shows the correct
relationship in terms of reactivity?

Q.No: 144
Which of these gases is non reactive?

Nitrogen

Sodium

Potassium

Chlorine

Q.No: 145 The property that allows metals to be
drawn into thin wires is called:

Luster

Opacity

Ductility

Refractivity

Q.No: 146 The transfer of pollen grains from the anther to
the stigma is called:

Fertilization

Reproduction

Pollination

Germination

Q.No: 147 What is the residue left behind when wood
is burnt in a limited supply of oxygen?

Smoke

Water

Ash

Charcoal

Q.No: 148 What is the primary goal of soil conservation?

Maximizing soil erosion

Reducing soil fertility

Preventing soil degradation

Encouraging desertification

Q.No: 149 Which of the following is a
method to reduce air pollution
from vehicular emissions?

Encouraging idling of engines

Promoting public transportation

Disposing of vehicle emissions in open
areas

Using low-quality fuel

Q.No: 150 Plants are classified as
multicellular eukaryotic
organisms that are:

Autotrophic and possess cell walls

Autotrophic and lack cell walls

Heterotrophic and possess cell walls

Heterotrophic and lack cell walls


